XVZyy20=97.09 , 99.99 , 104.01
.5 €40~ 810 Yio

= 2,58, (b byao Vyo

ol (X10=%:) /%l

50G,

1,000
CalA 48,312
6 OstwaIdFarben (o)

Parameter:
Y10& Name
Lichtart P60

Y, 100 Y
42R,
Ag
L

XVZyy 179765 , 1000 , 95.55
A1p=25 yo=and Yio

Byo= 2,58, (b~ bng) Y30

330 = 3z [ (X10=%c) /Yol

byo =y [ 20/ Yol

am 1, by=-0,4

X, = 0,000, B, = 1,000
CAmo-[Am *sz] v

6 Ostwa]dFarbsn (0)

50G,

von (M)Cpg 1oim
Buniwertdiagramm (A,,, B,) ~100
Lichtart P60, Y, c:lOQ Y1070

Name Bereich X, ) Vosg Zao %o Yazo g g%
R, 563_775 6361 4202 02 0,6009'0.397

t
100
50M,

1004

Parameter:

Y10& Name

Lichtart P55
17100 Y, 1=0

b Bg

von (M)Cyg zoim |
Buntwertdiagramm (A, Bm) -100
Lichtart P55, Y, ;=100 Y, Nm

Name Bereich X, Yoy Zy.0
R, 564_775 6496 4226 0.19

*s10 Yoo Ay 58
6047'0:3034 553 483

Buntwertdiagramm (A4, B0 ~
Lichtart P30, Y,,,=100 ¥, 1,J_(J

Name Bereich X, ) Voo
574 775 7088 a5 058 a7 8 ks oz so1.
497775 103.184.46 224 05162 0.4725577 469
497574 23,85 49.41 224 03159 06543542 5420
380_574 29.95 54.94 39.19 0.2413 04427 491 602
B, 380497631 573 37.03 0.1286 0.1168469 577
M, 574497 85.65 50.78 37.03 0.4937 0.2927 542c542
W,380_775 100.289.99 39.19 0.4398 0.4024 100%

N, 38077501 009 003 0439 04022 0%

2, 380_775 19.67 17.99 705 0.4398 04024 18%

00,43

Buntwertdiagramm (A4, B,o)
Lichtart P25, ¥,,,i=100 Y, 10_o

Name Bereich X, Yy, Yoro
R, 578_775 8613 4678 0.0 et 3513 sns 495
Y; 500775 11262465 128 054 04538580 473
G 500_578 26.72 48.07 128 0.3512 06318 547 S47c
C, 380_578 30.64 53.41 26.13 0278 0.4847 495 605
B, 380500415 554 249 01199 01602473 580
M, 578 500 90.05 52.12 24.9 05389 0.3119 547c547
W, 380_775 116.590.99 2613 0.4802 0.412 100%

N; 380775011 009 002 048 04118 0%
Z,380_775 2097 17.99 47  0.4802 0.412 18%

-1004

Yy 487_775 79.65 92.00 6,68 0.4464 0.5161567 460 Y§ 488_775 8174 9254 637 0.4524 0.5122 568 460
G, 487563 16.23 50.26 6,68 0.2218 0.6868 528 528 G, 488_564 16.97 5047 637 0.2299 0,6837 529 520c
€4 380_563 33.67 58,17 104.010.1719 0.2969 452 592 ;) 380_564 32.86 57.93 95,55 0.1764 03108 483 593
B, 380487 1763 8.1 97.54 0.143 00657460 567 B, 380485 161 7.65 80.36 0.1423 0.0676 460 568 8B,
M, 563_487 8105 49.93 97.54 03546 0.2184 528c528 _1004 M, 564_488 80.87 49.72 89.36 0.3676 0.226 529c529 _1004 d
W 380_775 57.00 99.99 1040103224 0.3321 100% W} 380_775 97.65 1000 9555 0333 0341 100%
Ny 380775009 009 01 03223 03319 0% N,'30775000 0.1 009 0332903409 0%
24 380_775 17.47 17.99 18.72 03224 03321 18% 2, 3807751757 180 17.19 0333 0341 18%
BGMO0-1A BGMOO-2A
><YZW 10-98.51,99.99, 86.17 Parameter: XYZ,1=99.8,100.0,75.8 Parameter:
0= 2,5 810~ o) V1o 1004 B1o  vyp& Name As=2,5 B0~ Yso 1004 B1o  v;p&Name
5B, (byo— byg) Va0 oaf, Lichtart P50 Byy= 2,58, (b byyo) Yio Lichtart P45
ﬂm ol G Xm %) Iyl Yi167100 Yy1670 [ a10=a5 [ (X30=%c) /¥dl OPY, Y7100 Yy 1670
ol Zm Yid b= 220[5:10’ )3014
4 0= = 4
X, 00005—1000 556G X, = 0,000, B, = 1,000
172 38R, 12 516 42R;
Cnam—[Am 512] CABlO_[AIO +B1oz]
6 OstwaldFarben (0) Ao 6 OstwaldFarben (0) A Ao
von (M)Cpg oim P50 + von maxi (M)Cpggoim t s t t
Buntwertdiagramm (Ayq, B,o) ~100 100 Buntwertdiagramm (A, B,() ~100 100
Lichtart P50, Y, ,;=100 Y, =0 625, Lichtart P45, Y, ;=100 Y, ,;=0 9 4oM
Name Bk X, Yy 2,0 % Yoo a6, ||mame Bereonx,, Yoz, Y 0, d
R, 565775633 3643 017 0/62120.3771567 aga R, so7715 6748 41 018 Gises ar69 567 485 L
¥ 4897758426 92.86 5.73 0.4608 0.5078 569 461 Y§ 490775 87.33 92.14 365 0.4768 05031571 465
G, 489565 21.15 54.63 573 0.2595 0.6701534 534c G, 490_567 10.89 508 3,65 (0.2675 0.6832536 536 -
C4380 565354 6176 86.17 0.1931 0.3369484 597 G, 80 567 2237 5e5 750 004 0385 s 07 a
B, 360_489 14.44 733 806 0141 00716461 569 380_490 12,67 8,05 72.29 01362 0.0865 465 571
M, 565_489 77.55 45.56 80.6 0.3806 0.2236 5340534 _1004 M“ 567490 80.1 49.39 72.29 0.3969 0.2447 5360536 _1004
W380_775 98,51 99.99 86.17 0346 03512 100% W;380_77599.8 1000 75.8 0.3621 0.3628 100%
N, 380775000 009 008 03459 03511 0% N, 380 775009 01 007 03619 0.3626 0%
2; 380_775 17.73 17.99 1551 0.346 03512 18% Z; 380775 17.96 18.0 1364 03621 03628 18%
BGMO00-3A BGMO00-4A
XYZ,,=101.75,100.0 , 64.44 Parameter: XYZ, ,;=104.71,99.99 , 52.16 Parameter:
5 b1~ 30 Yio 1004 B1o  vyg& Name A= 2,5 80— a9 Yso 1004 B0 v;9& Name
5B, (byo - Bryo) Yio Lichtart P40 Byo= 2,58, (byo - byyo) Yio Lichtart P35
ol (Xag=%:) /Yool & Y6710 Yy1670 [ ar0=a5 [ (X30=%c) /idl Ya6"100 Yy 1670
PBYa bio =y [ 26/ Y1l "™
g =1 b= 04 RAYq
1,000 50G, %, =0,000,B,_ = 1,000
2 2
CAam—[Am B,3] 4 44Rs CAalo‘[Am +Bmz] 53Gy 42R,
6 OstwaldFarben (o) Ao 6 OstwaldFarben (0) Ao
von (M)Cyg1oim | t t von i (M)Cyggoim | t é) t t
i E P4° 100 100 P3 100
Buntwertdiagramm (A, ,, B;)) Buntwertdiagramm (A4, B,o) 89 Cﬁ
Lichtart P40. Y6100 Y670 575, 50M, Lichtart P35, ¥,,6=100 Y,,,=0 " 4TV
ame Bereich X, Vo ame Bereich X, } Yo
R, 569_775 7144 435 012 *Saosiers v aer R, 571,775 7246 4157 o Y st ot a0 6B
¥} 492775013 9344 386 0484 04954572 465 78 Y, 494775 964 9424 339 0.4968 0.4856 574 466 d
G, 492,569 20.05 5014 386 0.2708 0.677 535 535 o G, 494 571 24.15 5286 339 0.3003 0.6574 540 540c
C4 380569305 56.60 64.44 0.2011 0.3738 487 507 | 380_571 32.45 56.62 52.16 0.2265 04092 489 601
B, 380_492 10.65 6.75 60.71 0.1363 0.0864465 572 B, 380494 851 595 48.86 0.1344 0.094 466 574
M, 569_492 81.89 50.05 60.71 0.425 0.2508 535c535 _1004 M, 571494 80.77 47.33 48.86 0.4563 0.2674 540c540 _1004
W380_775 10L.7800.0 64.44 03822 03756 100% W) 380_775 104.789.99 52.16 0.4076 0.3892 100%
N, 38077501 01 006 0382 03755 0% N, 38077501 009 005 04074 0.3891 0%
2, 380_775 1831 180 116 03822 03756 18% 2, 380775 18.84 17.99 938 0.4076 03892 18%
BGMO0-5A BGMO00-6A
>(YZW 10=109.29,99.99, 39.19 Parameter: XYZ,,=116.54,99.99 , 26.13 Parameter:
= a0 V1o 1004 B1o  v3& Name Agg= 2,5 by~ 80 Yoo 1004 B1o  vyp& Name
258, (b - By Va0 Lichtart P30 Byo= 2,58, (byo - byso) Yio Lichtart P25
3ol ( X0~ %) / Yad Yiu167100 Y1670 |as0= 30 (Xi0=%c) / %ad Yiv,167100 Yy 1670
= byl Zm/ Yid byo=by [ 20/ vid
A% .4 24y 2= 1, by =-04 T
% =0,000,8, = 1,000 s X, = 0,000, B, = 1,000 95y
172 = 2, 2
ABm—[A 2B B,3] 9 4 Cop1=[A13+Byg] d
6 OstwaIdFarben ) Gy % 6 OstwaldFarben (0) 48G, ?/ ARy
von (M)Cogroim | t t + von (M)Cpg 10iM t D t +

[ ——dsup

BGMO00-7A

BGMO00-8A

TENIO0=T1C




